Maths Key Skills













Stage 5: Skill Check 11 Answers
Name: ___________________________________                              Date: _______________                  Class/Group: _______________________________

	A: Place Value, Add and Subtract
	B: Multiply, Divide and Fractions
	C: Measure and Problem Solving

	1. What is the value of the 8 in this number?
       7,186,354
	5:1

80,000
	11. Which is a common factor of 14 and 35?        2      3      5      7      14 
	5:8
7
	21. Ben managed to eat           of his pizza.

Tom managed to eat 75% of his pizza.
Who ate the most?
	5:19

Ben (80%)

	2. Write one million, five thousand, three hundred and nineteen in digits.
	5:1
1,005,319
	12. Is 39 a prime number? How do you know? 
	5:9
No,

÷ 3/13
	
	

	3. Round 596,147 to the nearest thousand.
	5:2
596,000
	13.                      329 x 13
	5:10
4,277
	22. How many millilitres are there in 0.42 litres?
	5:20
420

	4. What is the missing number?

        924     1,024                       1,224
	5:2
1,124
	14. 
             321.5 ÷ 100
	5:11
3.215
	
	

	5. What temperature is 9 degrees less than 0 degrees Celsius?
	5:3
-9°C
	15. What is 92 ?
	5:12
81
	23. Calculate the perimeter of this shape.
	5:21
76cm

	6. What number is represented by these Roman Numerals?      CCCXIII
	5:4
313
	16.

	5:13
11
14
	
	

	7. 
        237,675 – 24,700 =


	5:5
212,975
	17. Find an equivalent fraction of        .
	5:14
 1       4
 3      12
	24. Estimate the volume of this shape.  Write a, b or c. 
a. 8 cm3.
b. 12 cm3.
c. 16 cm3.
	5:22

a

	8.                 41,380 + 19,805 =
	5:5
61,185
	18. Write         as a mixed number.
	5:15
    2
	
	

	9. Complete this sum without written working.         12,300 + 4,200 =
	5:6
16,500
	19. 
	5:16
30
	25. Sarah started a test at 12.45pm. The test is 105 minutes long. What time does Sarah finish her test?


	5:23
2.30pm

	10. I buy 2 CDs costing £7.45 each. How much change do I get from £20?
	5:7
£5.10
	20. Round 0.97 to 1 decimal place.
	5:17
1(.0)
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